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(A) 224 (B)§-224 (C)§-224
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0 10 20 30 0 10 20 30 0 10 20 30
HCl(aq) (ZF) HCl(aq) (ZF) HCl(aq) (ZFH)
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& i&
;%;112 % 112
0 10 20 30 0 10 20 30
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30( )IWY REEATAR RZ AR (BEE) ®?
(Kot F i 5idhi# 5 8)  Sn(s)+Clz(g) — SNClz(s) » AH=—350kJ
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w51 (5) +Cl(g)

(D) Sn( )+Cl,(g) (E)
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2H20(1)— 2H2(g) +O2(g) » AH=572 kJ
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5_ ( ,}Lf"Fﬁ’d ’ IE’—‘k’a?L;ﬁﬁ*%‘r‘?
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(A)C2HsOH (B)CHsCOOH (C)NH«Cl (D)CHa (E)H2COs -
)t pH E5 7.1 RIE &SRR BFRTT AR Y ?
(A)3.8x10 5M  (B)4.5x10 M  (C)7.1x10 7'M
(D)7.2x10 M (E)6.8x10 °M -
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(A) HCl4+NaOH — NaCl+H20 (B) 2Mg+CO2 — 2MgO+C
(C)CaC0Os3 — CaO+COz2 (D) NH3+HCI — NH4CI
(E) NaHCO3+HCI — NaCl+CO2+H20 -
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(A)CaClx(l) (B)NaCl(ag) (C)Cu(s) (D)HCI(l) (E)NHs(aq)-
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JEE S ERT > T EE Y o s Q2> ?

(A) 2H2(g) +02(g) — 2H20(g) * AH=—Q1 ; 2H2(g) +O2(g) — 2H20(l) > AH=—Qz2

(B) CH3OH(g) + %Oz(g) L, CO2(g)+2H20(g) » AH=— Q1 ;

s
B
s

B

CH3OH(l)+ gOz(g) — CO2(g)+2H20(g)  AH=—Q2
(C) 2H2(g) +02(g) — 2H20(g) * AH= —Q1 ; H2(g) + lOz(g) — H20(g) » AH=—Q2

(D) C(s)+02(g) — CO2(g) » AH=—Q1; C(s)+ = Oz(g) — CO(g) » AH=—Q2
(E) S(g)+02(g) — SO2(g) » AH=—Qx1; S(S)+Oz(g) — S02(g) * AH=—Q2 -
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(A)AH=250k] (B)AH=-250k] (C)AH=—150k] % 150 c+20
D)AH=150kJ (E)AH=400kJ -
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(A)e ek ek

(B)e pa-kizie™ 7

(Cle pkipie? 33 ~ £ fr+

(D)F kR eBREE C fhde » LR A - AR A 2 CO2 # 5 -
(E)e gokizip gt ¥ F 2 34 § o

)T AT E T T S AR kA ki (kA AR E) 2 (EAT)

(A) (B) (C) (D) (E) e
\Do) @ o 303 a;, eoa
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)T PR fe }F’TA WoRfE O HRBRREETH > PV R R \:’%i d ?
(A)#r& (B)yagie (C)xf (D)s@d (E)ppt-

YEET o TRURU AR R G D

(A)*#xiz (B)s-k (C)iiz (D)waz-k (E)Z2m-

YT ARG Bk 0 ARG A FATAES > Btk ?

(A)#prsi -k (B)BEiFE -k (C)zE4k (D)@ma-k (E)#Ezd-k-

)T AL R s § B RE R ? (A )

(A) 2NaOH +H2S04 — Na2S04+2H20 (B) Ca+2H20 — Hz2+Ca(OH)2
(C) Pb(NO3)2+2NaCl — PbCl2+2NaNOs (D) 2H2+02 — 2H20

(E)H +NHs — NHs" -



